

Bello Fatimahade Shakiratu
 1711111501083
 Civil Engineering
 Assignment 2

6) $y = e^{x^2 + x}$

$e^{x^2 + x}$

$u = e^{x^2}$

$\frac{dy}{dx} = 2x e^{x^2}$

$y' = e^{x^2} \cdot 2x + e^{x^2 + x}$

$y' = e^{x^2 + x} (2x + 1)$

$u = e^{x^2 + x}$

$\frac{dy}{dx} = e^{x^2 + x} (2x + 1)$

$y'' = e^{x^2 + x} (2 + 2x)$

$y' = e^{x^2 + x} (2x + 1)$

$y'' = 2y + y' (2x + 1)$

$y'' = y' (2x + 1) + 2y$

$u = y'$

$u' = y''$

$u'' = y'''$

$u'' = y'' (2x + 1) + 2y'$

$u'' = y'' (2x + 1) + 2y'$

$y''' = y'' (2x + 1) + 2y'$

$y''' = y'' (2x + 1) + 2y'$

$y''' = y'' (2x + 1) + 2y'$

$y = e^{x^2 + x}$

differentiate

$y' = y'$ and $y = y'$

$y' = (2x + 1) e^{x^2 + x}$

$y'' = (2x + 1) e^{x^2 + x} + e^{x^2 + x} \cdot 2$

$y'' = (2x + 1) y' + y \cdot 2$

Therefore,

$y'' = y' (2x + 1) + 2y$

find the nth derivative of y''

$y''' = y'' (2x + 1) + 2y'$

$y^{(n+2)} = y^{(n+1)} (2x + 1) + n y'' \cdot 2 + 2 y'$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2y^{(n+1)}$$

Therefore

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2y^{(n+1)}(n+1)$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n+1)}$$

2) $y = x^3 e^x$ determine $y^{(6)}$
Soln

$$y^n = U^n V + n U^{n-1} V' + \frac{n(n-1)}{2} U^{n-2} V'' + \frac{n(n-1)(n-2)}{3!} U^{n-3} V''' + \frac{n(n-1)(n-2)(n-3)}{4!} U^{n-4} V^{(4)} + \dots$$

Taking

$$U = e^{4x} \quad V = x^3$$

$$U^n = 4^n e^{4x} \quad V' = 3x^2$$

$$U^{(n-1)} = 4^{n-1} e^{4x} \quad U'' = 6x$$

$$U^{(n-2)} = 4^{n-2} e^{4x} \quad U''' = 6$$

$$U^{(n-3)} = 4^{n-3} e^{4x} \quad U^{(4)} = 0$$

$$U^{(n-4)} = 4^{n-4} e^{4x} \quad U^{(5)} = 0$$

$$U^{(n-5)} = 4^{n-5} e^{4x}$$

Substitute values in general solution

$$y^n = 4^n e^{4x} x^3 + n [4^{n-1} e^{4x} 3x^2] + \frac{n(n-1)}{2!} 4^{n-2} e^{4x} 6x + \frac{n(n-1)(n-2)}{3!} 4^{n-3} e^{4x} 6 + \dots$$

$$n(n-1)(n-2)(n-3) 4^{n-4} e^{4x} \cdot 0$$

4!

$$y^n = x^3 4^n e^{4x} + 3n x^2 (n-1) e^{4x} + \frac{n(n-1)}{2!} 6x 4^{n-2} e^{4x} + \frac{n(n-1)(n-2)}{3!} 6 4^{n-3} e^{4x} + 0$$

$$y^n = x^3 4^n e^{4x} + 3n x^2 4^{n-1} e^{4x} + \frac{n(n-1)}{2} 6x 4^{n-2} e^{4x} + \frac{n(n-1)(n-2)}{6} 4^{n-3} e^{4x} + 0$$

$$y^n = x^3 4^n e^{4x} + 3n x^2 4^{n-1} e^{4x} + 3n x (n-1) 4^{n-2} e^{4x} + n(n-1)(n-2) 4^{n-3} e^{4x} + 0$$

$$y^n = x^3 4^n e^{4x} + 3n x^2 4^{n-1} e^{4x} + 3n x (n-1) 4^{n-2} e^{4x} + n(n-1)(n-2) 4^{n-3} e^{4x} + 0$$

$$y^n = x^3 4^n e^{4x} + 3n x^2 4^{n-1} e^{4x} + 3n x (n-1) 4^{n-2} e^{4x} + 3n x (n-1)(n-2) 4^{n-3} e^{4x} + 0$$

$$y^n = x^3 4^n e^{4x} + 3n x^2 4^{n-1} e^{4x} + 3n x (n-1) 4^{n-2} e^{4x} + 3n x (n-1)(n-2) 4^{n-3} e^{4x} + 0$$

$$y^n = 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

